Presentation of Standard:
 

Title:
	Does the title reflect the intent of the requirements in the standard?
	Yes

	Does the title fits across a single page width when printed?
	Yes


 

Purpose:
	Does the purpose statement identify a reliability objective?  
	Yes

	Does the purpose statement include unnecessary phrases such as, “The purpose” and the phrase, “This standard?”
	Yes


 

Applicability:

	If the applicability deviates from that in the latest version of the compliance registry criteria, is there a justification for the deviation?  
	??

	If the applicability is for a subset of the BES, is there a justification for the subset identified?
	n/a


Effective date:
	Does the effective date in the standard match the effective date in the implementation plan?
	n/a

	Does the effective date follow the latest approved language to meet the needs of the compliance program and to respect the different approval methods for jurisdictions that do/do not require regulatory approval?
	Yes


 

	Requirement:
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	R13
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	Does the requirement address a single activity? 
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	Is the requirement written in the “active” voice?
	y
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	Y
	y
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	Is the reliability-related purpose of the requirement either obvious or stated in the requirement?
	n
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	y
	Y
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	Is each subrequirement related to the main requirement?
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	n/a
	n/a
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	Are there multiple levels of subrequirements?
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	n/a
	n/a
	n/a
	n/a

	If actions are “variable” (such as a list of several items where the responsible entity must perform only one of the items listed) are these actions bulleted rather than numbered?
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	Does the requirement include any ambiguous words?
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	If a specific performance can’t be identified, is the acceptable performance qualified and bounded by measurable conditions/parameters?
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	n/a
	n/a
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	Does the requirement include any explanatory information?
	n
	N
	N
	n
	n
	n
	n
	n
	n
	n
	n
	n
	n

	Is the required performance clear?
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	Are there any grammar or spelling errors
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� Although the responsible entity is identified, the performance is written for a group of entities, not for a single entity, and is therefore difficult to assess for compliance.  No entity registers as a “Group of PCs”.  Suggest the SDT modify the requirement so it is phrased such as “Each PC shall work with all other PCs in its NERC Region to . . .”


� Same as first comment on R2.


� Same as first comment on R2.


� Same as first comment on R2.


� Same as first comment on R2.


� Same as first comment on R2.


� Same as first comment on R2.


� Same as first comment on R2.


� Same as first comment on R2.


� Same as first comment on R2.


� This seems to be a subrequirement associated with the periodic assessment – suggest making this a subrequirement (R8). 


� This seems to be a subrequirement associated with the periodic assessment – suggest making this a subrequirement (R9). 


� The phrase, “. . .  to be . . .” is passive.  Suggest revising such as, “. . .  for consistent application by ?? throughout that NERC Region.”  (Note that the standard doesn’t state who will use this . . . ) (R2)


� The purpose of the procedure isn’t clear – it seems the desired outcome is the application of what is in the procedure.  (R3)


� It isn’t clear how a database is used to analyze events.  Are you updating a database or a model?  Requirement R6 references “simulations” - the assumption is that there is a model that is being used for the simulations.  (R10)


� Is the data needed for the assessments or for the model used for the assessments?  (R11)


� Since no other requirement describing the UFLS program identifies “load tripping” it isn’t clear if this is asking the responsible entities to “provide” load tripping data, or if it is asking entities to meet some identified “load tripping capability.” (R12)


� There is no reliability-related objective identified with this requirement. If the sole reason for providing the data is to satisfy the compliance folks, then this should be a “periodic report” or an “exception” report identified in the compliance portion of the standard, but should not be a reliability requirement. (R13)


� What do you mean by the word, “system?”  Suggest adding some words to this (such as Bulk Electric System) or using the capitalized version to indicate you are using the defined term – or if you really want the PCs to identify all possible islands within the NERC Region – that’s what you should state. (R3)


� What do you mean by the word, “system?”  Suggest adding some words to this (such as Bulk Electric System) or using the capitalized version to indicate you are using the defined term – or if you really want the PCs to identify all possible islands within the NERC Region – that’s what you should state. (R5)


� What does the word, “adequate” mean?  Suggest deleting this word.  (R7)


� What constitutes a UFLS program?  This is not defined to any degree.  (R2)


� Do you want the outcome to be a procedure that includes these items, or do you want the outcome to be the identification of islands – it isn’t clear if you want the procedure to include a requirement that PCs document their use of historical events and system studies – or if you want the procedure to rely on the use of historical events and system studies.  The purpose of the procedure isn’t clear. (R3)


� It isn’t clear what is expected by “UFLS studies and analyses” or by “study results.” (R4)


� Is the “designing a UFLS program” in this requirement the same as “develop a UFLS program” in R2?  If yes, then change one of the requirements so that both use the same word – either “design” or “develop.”  (R5)


The first subrequirement references a “list of islands” – but this doesn’t seem to connect to any other requirement . . .R3 requires a procedure to locate portions of the system that may form islands – but there is no requirement to use this procedure to identify these islands.  The relationship between this subrequirement and the main requirement is unclear- R5 says you must identify at least one island “that includes” – which leads you to believe that the subrequirements are a list of criteria for specific elements that must be included within each island – such as some source of generation. . .  but the first subrequirement is a qualification for identifying the island, it isn’t anything to be included within the island.  Can an entity select any island, or if there is an inter-regional island already identified through application of the procedure referenced in R4, must the inter-regional island be the island that is selected?  The last subrequirement is unclear – it sounds as though the PCs must identify all possible islands . . . and that doesn’t match the main requirement . . . so the purpose of the last subrequirement doesn’t seem clear – it seems as though R5.4 may be part of the application of R3, but this isn’t clear. 


� Is the criteria in R6 part of the program identified in R2?  If yes, then should these be combined into a single requirement?  (R6)


� Believe it would be more accurate to use the word, “determine” rather than “verify.”  Suggest adding a reference to the performance characteristics identified in R6 for improved clarity. (R7)


� Since no other requirement describing the UFLS program identifies “load tripping” it isn’t clear if this is asking the responsible entities to “provide” load tripping data, or if it is asking entities to meet some identified “load tripping capability.” (R12)


� The correct pronoun when referencing a single functional entity is “it” rather than “they.” (R1)





